HE—SHE RN BT TERFEMIRRSR)
ENEMEEINETES

(B) ¥EM29F4H18 () ¥E3043H31H

(847 - /)
BhERIE FHE(A) SRE(B) ZE(A)-(B) =

2BV 0 0 0
IR 915, 000 929,193 -14,193
REREHEEUNA 35,517,000 34,986, 124 530, 876
ESUMEERTION 124,903, 000 125,421, 474 -518, 474
EJPNE=3)ON 15, 000 14, 700 300
= SZEFISEHESUNA 27,000 26, 003 997
& ZOMMDIIA 757, 000 784, 355 -27,355
i SEEHEMINAGT (1) 162, 134, 000 162, 161, 849 -27, 849
It AFEZH 92, 448, 000 92, 433, 466 14,534
BEHTH 20, 956, 000 21,246, 794 -290, 794

G & BHEETH 28,092, 000 27,958, 526 133,474
IR " HESERIEEESE 8,012, 000 8,011, 541 459
% BhRkESZH 7,414,000 7,303, 704 110, 296
ZOMDZ 0 0 0
SEEHTHET (2) 156, 922, 000 156, 954, 031 -32, 031

| |EREHESINTELE (3) = (1) - (2) 5,212,000 5 207,818 4,182
& INERFEEES TN 0 0 0
o | A [FERERESIAG (4) 0 0 0
[‘_ * |EEESEREGSH 0 112, 320 -112,320
- RS et (5) 0 112, 320 -112,320
iﬁﬁ%ﬁ%ﬁ%ﬁﬁw§§gﬁ (6) = (4) - (5) 0 -112, 320 112,320
» N[BT SR REEIRA 0 0 0
= | A [EOmOEBIRAGT (7) 0 0 0
5| [EEPC AR, 0 0 0
S m ZOMDESNCLZZH 0 0 0
<" [rotoEsZEEr (8) 0 0 0
$ FomoEnEsNEER (9) = (/) - (8) 0 0 0
FiEEzH (10) 0 0 0
0 0 0

WSS EESST (11) = (3) + (6) + (9) — (10) 5,212,000 5 095, 498 116, 502
Bk EINERES (1.2) 40, 334, 000 40,333, 618 382
WHRSHESES (11) + (12) 45 546, 000 45 429,116 116, 884




